Nr pliku: Mat2-MR-L03-S-v01

Rozwigz réwnanie:
2
ajx —9=0

b)x’ + 6x + 8 = 0
c)x(x+4) =0
dx-—-7)(x+1) =0

g5 (x+2Dx—4=0
h)2(x + 5)(x —3) =0

Wyznacz miejsca zerowe podanej funkcji kwadratowe;j:
a)f(x) = x(x — 6)

b) f(x) == (x = 2)°

c) f(x) = x° + 7x + 12

Rozwigz réwnanie:

2x+ Dx-2)=@x-3)"-1

Rozwigz réwnanie:

x(x +5) — (2x — DP=—x"+3

Rozwigz réwnanie:

3x2+2x+1—(x—2)2=x(x+4)

Rozwigz réwnanie:

2 + 3)°+ 3(x — 2)° =x* + 10x + 25
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Rozwigz réwnanie:

4x —Dx+2) —(x+ D =3x" =5

Dane rownanie: 4 + (a2 - 10)x + 3x2 = 0, gdzie x = 3. Oblicz a.

Dane réwnanie: (a — 1)x2 + (2a + 1)x — 3 = 0,gdziex = 2. Oblicz a.
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